RES TR 04

AT 57-Fyk(YS)

® T - FE&HDH oti— BERDH
P! Tl {7
9 - : (T- 150B%EF#<)
&) - = ib g
T ~ }%) o =t R R A sNF
=irp Ay ] ] Ve A AT P X YSH T s
S N R
(i TV % et D EHE S =R
?}‘.‘ =
EmEes| WK i 14X BmmEe #s 1 i H4X
76SC100| C-100Y =ES M42x1.5 76SC101| C-101B H %7 M14x1.5
76SC200| C-200B |=%. HE| M30x1.5 _ H %7
76SC300] C-300B [ LVvg'¥ | M36x1.5 7/6SC201| C-201B UD, =% M16x1.5
76SC400| C-400B YS M18x1.5
76SC700| C-700B UbD M16x1.5
76SC900| C-900B |Lvgs(E)| M14x1.5
OO 3—ERE (YS)
e1vy 75 T5—
IEE P EEa
] @ il  MIBx15
e
S )
o ;“:Ei
‘ i
: ! e B
BIA/ WY F 2 BRUAEBEER/ WYF T
EmEs| K HA4X Bmm [FE@mES[ # H4X 1 iy
76TKC32|C-32B(%8) | M14x1.5 11.5 76 TKP42|C-51A M42x1.5 H %5
76TKC42|C-42B(&)| M14x1.5 34.5 76 TKP30|C-61 M30x1.5 HE®.UD, =&
76TKC52|C-52B(%2) | M18x1.5 11.5 76 TKP36|C-91 M36x1.5 gy
76TKC521|c-52-1B(&) | M18x1.5 34.5 76 TKP20|C-81 M20x1.5 gy
76TKC62|C-62B(&)| M16x1.5 34.5
76TKC72B|C-72B(%8) | M16x1.5 11.5
[ T VAVA S
EaEs EoEs] o ?“f
0+-fi-*+—-L2 (EBjze==ee)
*rv7
(HICEEEV— o HES S BE) @173V
@ {147 S No. VL-KYCAP-E 5 ’\.\ EmEs
e e

. VL-CAP-E

B 08K

T




RES TR 04



